Math 4550 Topic 2 - Subgroups

Def: Let G be a group and It be a subset of G. We say that H is a <u>subgroup</u> of G if Hitself is a group under the same uperation as G. We write HGG to mean that H is a subgroup of G.

Ex: IR is a group under addition ZE IR and Ze is a group under addition So Zis a subgroup of IR. That is $Z \leq R$.

$$\begin{array}{l} \hline Proof:\\ (= \mathcal{P}) \ Suppose \ H \leq G.\\ \hline Then \ H \ is \ a \ Sroup \ Using \ the \\ uperation \ of \ G. \end{array}$$

H must have an identity element e_{H} . Let's show that $e_{H}=e_{j}$. Where e is the identity of G. We have



Now $e_{H}^{-1} e_{X}$ ists in G. Thus, $e_{H}e_{H}e_{H}^{-1} = e_{H}e_{H}e_{H}e_{H}$

 $So_{e} = e_{H}$

Hence, e E H. So condition I holds. Condition 2 holds since It is a group under the operation of G.

Now lets show 3 Let helt. Since H is a group there exists h'Elt where hh'=e. But also in G we get hh'=e. Thus, hh' = hh'And, h'hh' = h'hh'Thus, eh' = eh' $S \circ$, h' = h''. Thus, h'EH-(1=) Suppose conditions (1,2,3) hold. The only condition left to show that H is a group is associativity. But thats true in G and hence is then true in It since It is a subset of G. So $H \leq G$.

EX: Consider the group $Z_{6} = \{\overline{2}, \overline{1}, \overline{2}, \overline{3}, \overline{4}, \overline{5}\}$ Recall ZLG is a group under addition with identity e=0. Let's show that H={0,2,4} is a subgroup of ZG. Proof: $\overline{\bigcirc}$ DOEH H is closed $\overline{0}$ (Z)under + by -2 2 the table 1) 3 0'=0 EH $\overline{z}' = 4 \in H$ $\overline{4}^{+}=\overline{2}\in H$ 746 Thus $H \leq G$.

Ex: Recall that

$$GL(2, IR) = \{ \begin{pmatrix} a & b \\ c & d \end{pmatrix} \mid \begin{array}{c} a, b, c, d \in IR \\ ad - bc \neq o \end{bmatrix}$$

is a group under matrix multiplication.
Let
 Let
 $SL(2, IR) = \{ \begin{pmatrix} a & b \\ c & d \end{pmatrix} \mid \begin{array}{c} a, b, c, d \in IR \\ ad - bc = I \end{bmatrix}$
Note that $SL(2, IR)$ is a subset
of $GL(2, IR)$

 $\begin{array}{c}
\mathcal{G}_{L}(2)(\mathbb{R}) \\
\mathcal{G}_{n}(2)(\mathbb{R}) \\
\mathcal{G}_{n}(2)(\mathbb{R})$

Let's show that
$$SL(z, \mathbb{R}) \leq GL(z, \mathbb{R})$$

Proof:
(1) The identity of $GL(z, \mathbb{R})$ is $\binom{1}{0}$.
Since det $\binom{1}{0} = 1$ we have $\binom{1}{0} \in SL(z, \mathbb{R})$
(2) Let $A, B \in SL(z, \mathbb{R})$.
Then det(A) = 1 and det (B) = 1.
Then det(A) = 1 and det (B) = 1.
So, det (AB) = det(A) det(B) = 1.
Thos, $AB \in SL(z, \mathbb{R})$
(3) Let $C = \binom{a}{c}$ be in $SL(z, \mathbb{R})$.
Then det(C) = 1.
So, $ad - bc = 1$.
So, $ad - bc = 1$.
Ne know in $GL(z, \mathbb{R})$ that
We know in $GL(z, \mathbb{R}) = da - (-b)(-c)$
So, $det(C^{-1}) = det(\binom{d}{-c}a) = da - (-b)(-c)$
 $= ad - bc = 1$
Thus $C^{-1} \in SL(z, \mathbb{R})$.

By D, Q, B we have SL(2, IR) Z GL(2) IN

Note: Every group G has these subgroups: - Ethe trisial subgroup H=3e3 € the improper subgroup $H = G \blacktriangleleft$ We will now discuss one way to create Subgroups. It won't be the only way. It will be a way to create the "" cyclic" subgroups. Essentially given an element xEG we will create the smallest subgroup that contains X, it will consist of all powers of x.

Lemma: Let G be a group and
$$x \in G$$
.
If $n, m \in \mathbb{Z}$, then $x^n x^m = x^{n+m}$
 $\frac{P(uof: (Skip in class)}{Note: x^n x^m = ex^m = x^{n+m}}$ and $x^n x^n = x^n = x^{n+n}$.
Let $a, b > 0$.
Then,
 $x^n x^b = (x x \cdots x)(x x \cdots x) = x^{a+b}$
 $x^{-n} x^b = (x^{-1} x^{-1})(x x \cdots x) = x^{-a+b}$
 $x^n x^b = (x^{-1} x^{-1})(x x \cdots x) = x^{-a+b}$
 $x^n x^b = (x^{-1} x^{-1})(x^{-1} x^{-1}) = x^{a+(-b)}$
 $x^n x^{-b} = (x^{-1} x^{-1})(x^{-1} x^{-1}) = x^{(-a)+(-b)}$
 $x^n x^{-b} = (x^{-1} x^{-1})(x^{-1} x^{-1}) = x^{(-a)+(-b)}$
 $x^n x^{-b} = (x^{-1} x^{-1})(x^{-1} x^{-1}) = x^{-a+b}$

Theorem: Let G be a group and
$$x \in G$$
.
Define
 $H = \{ x^{k} \mid k \in \mathbb{Z} \}$
 $= \{ ..., x^{3}, x^{2}, x^{1}, e, x, x^{2}, x^{3}, ... \}$
Then $H \leq G$.
Furthermore we notate H by $\langle x \rangle$ and
Furthermore we notate H by $\langle x \rangle$ and
 $(x^{1})^{3}$
Then $H \leq G$.
Furthermore we notate H by $\langle x \rangle$ and
 $(x^{1})^{3}$
 $(x^{1})^{3}$
 $(x^{1})^{3}$
Then $H \leq G$.
Furthermore we notate H by $\langle x \rangle$ and
 $(x^{1})^{3}$
 $(x^{1})^{3}$
 $(x^{1})^{2}$
 $(x^{1})^{$

Ex: Consider the group
$$\mathbb{R}^* = \mathbb{R} - \{0\}$$
.
Recall that \mathbb{R}^* is a group
under multiplication.
Let's calculate $\langle 2 \rangle$.
We have the subgroup generated by 2 is
 $\langle 2 \rangle = \{2^k \mid k \in \mathbb{Z}\}$
 $= \{\dots, 2^{-3}, 2^{-2}, 2^{-1}, 1, 2, 2^{-2}, 2^{-3}, \dots\}$
 \mathbb{R}^*
 $\begin{pmatrix} 0 \end{pmatrix} = \{1, 2 \}$
 $= \{1, 2 \}$
 $= \{1, 2 \}$
 $= \{2 \}$
 $= \{1, 2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $= \{2 \}$
 $=$

EX: Recall that the integers Z are a group under addition. So in this case in the abstract theorem, for example, a means at a+a. 3rd "power" of a in Z Let x = 2. Let's calculate <2> in Z. We get $\langle 2 \rangle = \{ \dots, -2 - 2, -2, -2, -2, 0, 2, 2 + 2, 2 + 2 + 2, \dots \}$ 1 powers" of "powers" of 2 inverse of 2 Which is -2 identity So, subgrove generated by Z is <27={...,-6,-4,-2,0,2,4,6,...} = { 2n | n e 7/} is the set of multiples of 2.

Ex: In general for Z one gets

$$\langle n \rangle = \{ \dots, -3n, -2n, -n, 0, n, 2n, 3n, \dots \}$$

This cyclic cubgroup has a special
name, it is denoted by $n\mathbb{Z}$.
For example,
 $3\mathbb{Z} = \{ \dots, -6, -3, 0, 3, 6, \dots \}$
 $7\mathbb{Z} = \{ \dots, -14, -7, 0, 7, 14, \dots \}$
 $-3\mathbb{Z} = \{ \dots, 6, 3, 0, -3, -6, \dots \}$
 $0\mathbb{Z} = \{ 0 \}$

Vef: Let G be a group and XEG. If there exists a positive integer m where x^m = e, then the <u>order</u> of x is defined to be the smallest positive integer k where x = e. If no such m exists then x has infinite order.

Ex: Consider $U_6 = \{1, 5, 5, 5, 5, 5, 5, 5\}$ Where $S = e^{\frac{2\pi}{6}i} = e^{\frac{\pi}{3}i}$ and $S^6 = 1$. Let $x = S^2$. Let $x = S^2$. We have: $S^2 = S^4$ and power of $x = S^2$ $(S^2)^2 = S^4$ and power of $x = S^2$ $(g^2)^3 = g^6 = 14$ 3rd power of $x = g^2$ The smallest positive power of $x=S^2$ that gives the identity 1 is 3. Thus, 5° has order 3 in UG.

Ex: In $\mathbb{Z}_{8} = \{\overline{0}, \overline{1}, \overline{2}, \overline{3}, \overline{4}, \overline{5}, \overline{6}, \overline{7}\}$ $let x = \overline{Z}.$ We have 2 d 1st "power" of 2 2+2=4 ~ 2nd "power" of 2 2+2+2=6 - 3rd "power" of 2 Z+Z+Z=8=0 ↔ 4th power of Z The smallest positive power of 2 that gives the identity o is 4. Thus, Z has order 4 in Z8. EX: Consider the group R*= R-Zo]. Recall R* ic a group under multiplication with e=1. Let x=2. there is no positive x = 2Then, power of 2 that $x^{2} = 2^{2} = 4$ gives the identity $x^3 = 2^3 = 8$ element 1. Thus, z has infinite order in IR. x' = 2' = 16

Theorem: (Division Algorithm)
Let
$$m, n \in \mathbb{Z}$$
 with $m \ge 0$.
Then there exist unique integers
 q and r where
 $n = qm + r$ and $0 \le r < m$
 $proof:$ See my 3450 or 4460 notes.
 $proof:$ See my 3450 or 4460 notes.
 $proof:$ See my 3450 or 4460 notes.
 $proof:$ $proof:$

Theorem: Let G be a group and
$$x \in G$$
.
(a) If x has finite order n, then
 $\langle x \rangle = \{e, x, x^2, ..., x^{n-1}\}$
and $x^{k_1} \neq x^{k_2}$ if $0 \leq k_1 < k_2 \leq n-1$.
So, $n = |\langle x \rangle|$.
(b) If x has infinite order then
 $\langle x \rangle = \{..., x^3, x^2, x^1, e, x, x^2, x^3, ...\}$
and $x^{k_1} \neq x^{k_2}$ if $k_1 \neq k_2$.
(a) Let x have finite order n.
Let $S = \{e, x, x^2, ..., x^{n-1}\}$
We will show that $S = \langle x \rangle$.
Let 's show that $\langle x \rangle \leq S$.
Let 's show that $\langle x \rangle \leq S$.
Let 's show that $\langle x \rangle \leq S$.
Let 's show that $\langle x \rangle \leq S$.
Let 's have algorithm $m = qn+r$
where $0 \leq r < n$.

Then
$$x^{m} = x^{n+r} = (x^{n})^{q} x^{r} = e^{q} x^{r} = x^{r} \in S$$

(x has order n)

Thus $S \subseteq \langle x \rangle$. So, $S = \langle x \rangle$. Nuw suppose $x^{k_1} = x^{k_2}$ with $0 \le k_1 < k_2 \le n-1$ Then $x^{k_2-k_1} = e$ with $0 < k_2-k_1 < n$. This contradicts the fact that x has order n. (b) Suppose x has infinite order. (b) Suppose x has infinite order. If $x^{k_1} = x^{k_2}$ with say $k_1 > k_2$ then $x^{k_1-k_2} = e$ with $k_1-k_2 > 0$ then $x^{k_1-k_2} = e$ with $k_1-k_2 > 0$ which contradicts x having infinite order.

Answer: $\{\overline{0},\overline{3}\} \leftarrow \langle\overline{0}\rangle$ $\{\overline{0},\overline{3}\} \leftarrow \langle\overline{3}\rangle$ $\{\overline{0},\overline{2},\overline{4}\} \leftarrow \langle\overline{2}\rangle = \langle\overline{4}\rangle$ $\overline{2}_{6} \leftarrow \langle\overline{1}\rangle = \langle\overline{5}\rangle$

Def: Let G be a group.
We say that G is cyclic
if there exists
$$x \in G$$
 where $G = \langle x \rangle$.
If this is the case then we call
x a generator of G.

Ex:
$$\mathbb{Z}_{6} = \langle \overline{1} \rangle$$
 is cyclic
In general, $\mathbb{Z}_{n} = \langle \overline{1} \rangle$ is cyclic
Ex: $U_{n} = \langle S \rangle$ where $S = e^{2\pi \lambda}$ is cyclic
Ex: $\overline{U}_{n} = \langle S \rangle$ where $S = e^{n\lambda}$ is cyclic
 $\overline{E_{n}} : \mathbb{Z}_{n}$ is cyclic since
 $\mathbb{Z} = \langle 1 \rangle = \{ \dots, -3, -2, -1, 0, 1, 2, 3, \dots \}$
(-1)+(-1)+(-1) (-1)+(-1) (-1)+(-1) (-1)+(-1) (-1)+(-1) (-1)+(-1) (-1)+(-1) (-1)+(-1))